LO: to identify number bonds to 10, 20 and 100.
Bonds to 10
0+____=10
1+ ____=10
2+____=10
3+____=10
4+____=10
5+____=10
6+____=10
7+____=10
8+____=10
9+____=10
10+____=10
Bonds to 20
0+____=20
1+ ____=20
2+____=20
3+____=20
4+____=20
5+____=20
6+____=20
7+____=20
8+____=20
9+____=20
10+____=20
0 +______=100
10+______=100
20+______=100
30+______=100
40+______=100
50+______=100
60+______=100
70+______=100
80+______=100
90+______=100
100+_____=100
[bookmark: _GoBack]5+______=100
15+______=100
25+______=100
35+______=100
45+______=100
55+______=100
65+______=100
75+______=100
85+______=100
95+______=100

Can you see a pattern?




